WGC2425

2400psi @ 2.5gpm
Part Number Description
Pump Information: PK16859......ccc0ieeenenees Pump Kit, AR, XTV3G220
18944 ..o Inline Filter Assy.
15127 e Swivel Assy
HOBT e Swivel Nut
P756 ..o Adapter 1/2 BSP x1/2 NPT
FO35 .. Quick Connect
Engine Information: GX16B0 .eeeeicieee e Engine, Honda 5 HP
PA4B ... Key
TB255 .. Oil, Engine
Frame Information: TEE55-P .. Frame
BT e Foot
18967 i Handle, Bagged
TE54-P oo Handle, Painted
5972 e Cap (2)
CO42 ..o Knob (2)
D0 [0 Tire, Pneu
FABA ..o Pal Nut (2)
Hardware Information:
Foot: FOB4 (Qty 1) .ceeeieeeeeiieeeeiieeeene Screw, 5/16-18 x 1
F112 (Qty 1) e, Washer, 3/8’
F119 (Qty 1) e Nut, 5/16-18
FO78 (Qty 1) e, Lock Washer, 5/16
Engine to Frame: F119 (QtY 4) e Nut, 5/16-18
FO78 (Qty 4) .eeeeeeeeieeieee e Lock Washer, 5/16
FOB6 (Qty 4)...evveeeeeeeiieines Screw, 5/16-18 x 1-1/2”
Pump to Engine: FO78 (Qty 4) v, Lock Washer, 5/16
FOB4 (Qty 4) .ceeeeeeeieieeeeeeen, Screw, 5/16-18 x 17
FO74 (QtY 4) e, Flat Washer, 5/16
Accessory Information: 151171 i Hose Assy
HO76 ..o Hi Pressure Hose, 3/8” x 25 ft
01T Quick Connect
18964 ..o, Lance Assy Dual
HT118 oo Lance/Dual
15962 ... Nozzle, V4,15°
N500T5 oo Soap Nozzle
16496 ...cooviiiiieeeeeee Trigger Gun, 3/8” Female
HT100 oo Chemical Hose
Manual Information: D21684 ... Manual, General-
English-Spanish
16560 ..ceeeeeeeeeeeeee e Manual, Engine
August, 2001
PW-MANUAL 7 Tab: WGC


http://www.allpartsinc.com/mmAllParts/Others/PK16859-IPD.pdf
whough
Highlight




